iﬁé\‘

L' B R
1 03 FEHRAHELTIERAANS

i

T2 —FA

BAERA

(EX XL EFR)

1.3t AEEEEE - BAEBERLEELAREL TG -

2. HEER © 100 448 -

3ARMAERE S5 Mo —# 20 4 £FH 1004 -
ABBERBEEES L -

S5ERFEEFEARTAKELBERME -

6. 5% FHEBEREES R -

TRERHERGEREFHEM -



103 BRAE RS e At LB A 2
B IR R

TR E-ER 1H #£1H

J

2 —_—
1. (20%) Solve the differential equation @ =-2 7% with y(x=0)= V2.

y+y

2. (20%) Solve the initial value problem y"(x)+y'(x)-6y(x)=0,y(0)=10,

y'(0)=0.
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3. (20%) Solve the differential equation {% + 8% +16 y}e‘“ = with p(0)=1

and y'(0)=-4 by Laplace transformation.

4. (20%) Let A= be a matrix. Find the nonsingular matrix P that
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diagonalizes 4.
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3. (20%) Compute cos(4) for A:[I 3 }



